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Algebra | Name ID:

Factor out the GCF Date Period
Factor the common fagtor out of each expression.
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Complete this page for homework.
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DOUBLE CROSS

1. What do you get when you cross a chicken with a centipede?
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2. What do you get when you cross a mink with an octopus?
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Factor each polynomial below as the product of its greatest monomial factor
and another polynomial. Find your answer and notice the letter next to it. Each
time the exercise number appears in the code, write this letter above it. Keep
working and you will find out what you get from these “double crosses.”

(@) 6x2+9x+27
(2) 5 +30x2 - 15x
(3) 14x° - 7x* - 35x
(4) 25x° - 40x2 + 10x
(5) ax* + 2053 + 12¢°
(6) 3x*+ 12x2 — 33
49x* — 14x° — 28x

QO®

Answers:
4x%(x? + 5x + 3)
3(x*+6x°+ 11)
7x(2x2 — x — 5)
3(2x2 + 3x + 9)
7x(7x3 — 2x° - 4)
5x(5x% — 8x + 2)
(B) 7x(7x®+ 2x2 - 3)
@ 5x(x® + 6x — 3)
3(x* + 4x2 - 11)
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2a2 + 12ab + 6b?

(9) 6a°— 18ab

3a2b? + 15ab®

(i7) 8a'b* - 28a°%° + 4a°b?

(12) 6a*b - 10ab? - 6a°b°

(13 7ab®—56ab

24ab* + 12ab® — 18ab?
Answers:

(H) 6ab’(4b®>—3b-2)

(X) 2(a>+ 6ab +3b?)

(8) 7ab(b* - 8)

(M) 3ab?(a + 5b)

(R) 6ab(4b? +2b - 3)

(N) 4a*b?(2a*b? - 9ab + 2)

(A) 2a®b(3a® - 5ab — 3b?)

(F) 6a(a?-3b)

(T) 4a®b?(2ab? - 7ab + 1)

OBJECTIVE 3-f: To factor a polynomial as the product of ils‘great&st monomial  A| GEBRA WITH PIZZAZZ!
factor and another polynomial (polynomials in one or two variables).
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